MN1:
eJ NJ

Wishbone

Axial Joint

Tie Rod End

Track Control Arm
Ball Joint
Stabiliser Link
Bush (Bushing)

150 9001

BUREAU VERITAS
Certification

IS0 TS 16949

BUREAU VERITAS
Certification

www.teknorot.com

info@teknorot.com

SUSPENSION PARTS,

TEXIIOraT

AUGUST 2015 New Items



AUGUST 2015 NEW ITEMS

Adapted for Years

1 AUDI A4 ( 8K2,8K5) 11/2007 -

Tek ref Description OEM NO Notes
A-587 TRACK CONTROL ARM UPPER RH 8K0411317B
2 AUDI A5 ( 8T3, 8TA) 06/2007 -

Tek ref Description OEM NO Notes
A-587 TRACK CONTROL ARM UPPER RH 8K0411317B
3 AUDI Q5 ( 8R) 11/2008 -

71 N =\ \
_ ‘\F‘ﬁ‘\:“ V—

& &

Tek ref Description OEM NO Notes
A-587 TRACK CONTROL ARM UPPER RH 8K0411317B
4 AUDI A6 ( 4G2/5,C7, 4GC/D/F ) 04/2011-

Tek ref Description OEM NO Notes
A-682 TRACK CONTROL ARM UPPER RH 8K0407506M
5 AUDI A6 ( 4G2/5,C7, 4GC/D/F ) 04/2011-

o

Tek ref Description OEM NO Notes
A-683 TRACK CONTROL ARM UPPER LH 8K0407505M




AUGUST 2015 NEW ITEMS

Adapted for Years

6 AUDI A6 (4G2/5,C7, 4GC/D/F ) 04/2011-

Tek ref Description OEM NO Notes
A-684 TRACK CONTROL ARM UPPER RH 8K0407509M
7 AUDI A6 ( 4G2/5,C7, 4GC/D/F ) 04/2011-

Tek ref Description OEM NO Notes
A-685 WISHBONE ARM REAR CENTER LH 8K0407510M
8 AUDI A6 (4G2,C5) 04/2011-

GiAeO— W

Tek ref Description OEM NO Notes
A-686 TRACK CONTROL ARM LOWER RH 8K0407152D
9 AUDI A6 (4G2,C5) 04/2011-

m& @ - @1 ®)

Tek ref Description OEM NO Notes
A-687 TRACK CONTROL ARM LOVER 8K0407151D




AUGUST 2015 NEW ITEMS

Adapted for Years

10 LINCOLN MKZ 2007-2012

1

Tek ref Description OEM NO Notes
FO-160 LINK STABILIZER FRONT AE5Z-5K483-A M10X1.25 / L=155MM

11 MERCURY MILAN 2006-2011

w4

1

Tek ref Description OEM NO Notes
FO-160 LINK STABILIZER FRONT AE5Z-5K483-A M10X1.25 / L=155MM
12 FORD FUSION (USA) 2006-2012

1

Tek ref Description OEM NO Notes
FO-160 LINK STABILIZER FRONT AE5Z-5K483-A M10X1.25 / L=155MM
13 FORD EDGE 2006 - 2014

1

Tek ref Description OEM NO Notes
FO-176 LINK STABILIZER FRONT 7T4Z-5K483-A M12X1.75 / L=113MM
= LINCOLN MKX 2007-2014

(I
iy
L)

Tek ref Description OEM NO Notes
FO-176 LINK STABILIZER FRONT 7T4Z-5K483-A M12X1.75 / L=113MM




AUGUST 2015 NEW ITEMS

Adapted for Years

15 FORD EDGE 2006-2014

a—F

Tek ref Description OEM NO Notes
FO-177 LINK STABILIZER REAR 7T4Z-5A486-AA M10X1.5 / L=100MM
16 LINCOLN MKX 2007-2014
Tek ref Description OEM NO Notes
FO-177 LINK STABILIZER REAR 7T4Z-5A486-AA M10X1.5 / L=100MM
17 MAZDA CX-9 2007-
Tek ref Description OEM NO Notes
FO-177 LINK STABILIZER REAR 7T4Z-5A486-AA M10X1.5 / L=100MM

18 HONDA CRV (1V) 01/2012 -

e

Tek ref Description OEM NO Notes
H-433 AXIAL JOINT 53010-TOA-AO1 M14x1.5 - L=256
19 KIA OPTIMA 01/2010-

= &

=

Tek ref Description OEM NO Notes
KI-500 LINK STABILIZER FRONT 54830-3Q000 M12X1.25 / L=270MM




AUGUST 2015 NEW ITEMS

Adapted for Years

20 LAND ROVER RANGE ROVER IV ( Vogue ) 08/2012 -

Tek ref Description OEM NO Notes
LA-168 TRACK CONTROL ARM LOWER RH LR034220
21 LAND ROVER RANGE ROVER IV ( Vogue ) 08/2012 -

Tek ref Description OEM NO Notes
LA-169 TRACK CONTROL ARM LOWER LH LR034219
2 LAND ROVER RANGE ROVER IV ( Vogue) 08/2012 -

Tek ref Description OEM NO Notes

LA-186 LINK STABILIZER REAR RH LR048093 M14X2 / L=184MM
23 LAND ROVER RANGE ROVER IV ( Vogue ) 08/2012 -

Tek ref Description OEM NO Notes

LA-187 LINK STABILIZER REAR LH LR048092 M14X2 / L=184MM




AUGUST 2015 NEW ITEMS

Adapted for Years
24 LEXUS ES 350 2006-2012
‘= — u
e » =
Tek ref Description OEM NO Notes
LX-216 LINK STABILIZER 48820-33060 M12X1,25 / L=260MM
25 LEXUS ES 350 2006-2012
N >
I‘-----!D -
5
Tek ref Description OEM NO Notes
LX-217 LINK STABILIZER REAR RH 48830-06060 M10X1.25 / L=262MM
26 MERCEDES S-SERIES (W221 ) 4-Matic 10/2005-
- g
Tek ref Description OEM NO Notes
M-906 TRACK CONTROL ARM LOWER RH 2213303811
2213306611
27 MERCEDES S-SERIES ( W221 ) 4-Matic 10/2005-
Tek ref Description OEM NO Notes
M-907 TRACK CONTROL ARM LOWER LH 2213303711

2213306511




AUGUST 2015 NEW ITEMS

Adapted for Years
28 2007 - 2012
Tek ref Description OEM NO Notes
MA-728 WISHBONE UPPER (WITH BALL JOINT) RH GS1D34200A
GS1D34200C
29 MAZDA MAZDA 6 (GH) 2007 - 2012
Tek ref Description OEM NO Notes
MA-729 WISHBONE UPPER (WITH BALL JOINT) LH GS1D34250A
GS1D34250C
30 OPEL MOKKA 06/2012 -
m
==t
Tek ref Description OEM NO Notes
0-435A LINK STABILIZER FRONT RH 350232* *METAL
3 OPEL MOKKA 06/2012 -
m
e . )
la £ l '
Tek ref Description OEM NO Notes
0-436A LINK STABILIZER FRONT LH 350231* *METAL




AUGUST 2015 NEW ITEMS

Adapted for Years

32 NISSAN MAXIMA 2009 - 2014

b

Tek ref Description OEM NO Notes
N-936A LINK STABILIZER FRONT RH 54618-3JA0C* L=299mm / M12x1.25 6g U.S.A Type
*METAL
33 NISSAN MAXIMA 2009 - 2014
Tek ref Description OEM NO Notes
N-937A LINK STABILIZER FRONT LH 54668-3JA0B* L=299mm / M12x1.25 6g U.S.A Type
“METAL
34 PEUGEOT 206 1998 - 2008
Tek ref Description OEM NO Notes
P-245 TRACK CONTROL ARM RH 3521.J0 Ch.No: -> 16V PR9505 -

35 PEUGEOT 206 1998 - 2008

~

Tek ref Description OEM NO Notes
P-246 TRACK CONTROL ARM LH 3520.L8 Ch.No: -> 16V PR9505 -




AUGUST 2015 NEW ITEMS

Adapted for Years
36 1998 -2007
Tek ref Description OEM NO Notes
T-148 WISHBONE (WITH BALL JOINT) RH LOWER 48620-60010
37 1998 -2007
Tek ref Description OEM NO
T-149 WISHBONE (WITH BALL JOINT) LH LOWER 48620-60010
38 TOYOTA CAMRY I 2001-2006
\
Tek ref Description OEM NO Notes
T-185 SUSPENSION BALL JOINT RH 43330-09160
43330-29405
39 TOYOTA PREVIA ( ACR3) 2000-2006
Tek ref Description OEM NO Notes
T-185 SUSPENSION BALL JOINT RH 43330-09160

43330-29405




AUGUST 2015 NEW ITEMS

Adapted for Years

40 TOYOTA CAMRY il 2001-2006

Tek ref Description OEM NO
T-186 SUSPENSION BALL JOINT RH 43340-09010
43340-29175
41 TOYOTA PREVIA ( ACR3) 2000-2006
: - = |
Tek ref Description OEM NO Notes
T-186 SUSPENSION BALL JOINT RH 43340-09010
43340-29175
42 TOYOTA CAMRY liI 2001-2006

Tek ref Description OEM NO Notes
T-187 WISHBONE (WITH BALL JOINT) RH 48068-33050
43 TOYOTA PREVIA ( ACR3) 2000-2006

Tek ref Description OEM NO Notes
T-187 WISHBONE (WITH BALL JOINT) RH 48068-33050




AUGUST 2015 NEW ITEMS

Adapted for Years
44 TOYOTA CAMRY llI 2001-2006
_ ’ L - - 2 ‘
S Gt
Tek ref Description OEM NO Notes
T-188 WISHBONE (WITH BALL JOINT) LH 48069-33050
45 TOYOTA PREVIA ( ACR3) 2000-2006

y

Tek ref Description OEM NO Notes
T-188 WISHBONE (WITH BALL JOINT) LH 48069-33050
46 TOYOTA SIENNA 2003-2010

—

Tek ref Description OEM NO Notes
T-270 LINK STABILIZER FRONT 48820 - 08020 M-12X1,25 / L= 260MM
47 TOYOTA CAMRY USA) 2006 - 2012
SN
Zy, \

— 4

Tek ref Description OEM NO Notes
T-290 LINK STABILIZER REAR 48820-06050 M-12X1,25 / L= 260MM




AUGUST 2015 NEW ITEMS

Adapted for Years

48 VOLKSWAGEN AMAROK 09/2010 -
Tek ref Description OEM NO Notes
V-244 SUSPENSION BALL JOINT UPPER

49 VOLKSWAGEN AMAROK 09/2010 -
Tek ref Description OEM NO Notes
V-248 WISHBONE (WITH BALL JOINT) LOWER RH 2H0407151A

50 VOLKSWAGEN AMAROK 09/2010 -
Tek ref Description OEM NO Notes
V-249 WISHBONE (WITH BALL JOINT) LOWER LH 2H0407152A




